Physical Science 01
Chapter 8 questions

13. How much does it cost to run a 1500-W hair dryer 30 minutes each day for
one month (30 days) at a cost of 8¢ per KWh?

kw hour 30 minutes 30 days
* 15000 * *

—_— 1 th
kW hour 1000W i 60 minutes i day month " Lmon

series and hooked to a 12-V battery.

250 350 S\%

= 180¢ \
19.  Two resistors with values of 25 Q and 35 Q, respectively, are%&in

12V o

+
]

\

N
S

I = 0.204

k . How much poser is expended in the circuit?

P=1VI

P = 12V % 0.204

P = 2.4 Watts
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20.  Suppose the two resistors in Exercise 19 were connected in parallel. What
would be:

oy ——— 250 =350 \
A

a. The current is in the circuit? §
There are several ways to determine the c % ill show one way that
is different from the book. You may sele hod you choose for the

test.

First find the current through t stor. ..

N\
N

<

I = 0484

SecoRd Ngdghe current through the 35Q) resistor...
V =1IR

C V

I = 0.344
Add the two currents up to get the total current.

I =0.484 + 0.344
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I =0.824
b. The power in the circuit?

P=VI

P = 12V %« 0.824 \
P = 9.8 Watts %x
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